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’ 100kN/mM#%#8 % % -l -~ - -|3mZEiBZ 3 -~ - - —-| 100kN/m%#8 %% - -~ - -|3m%iB 2% -~ - - -
s 1.00]0.00 ~ 757 96.93] =h L4 |000 ~ 757 2.18 11.68 zHns 1.00] 5.00 ~ 10.00 96.93] =hLlst | 500 ~ 10.00f 2.18 11.68
9 100kN/mM#%#8 2 % -l -~ - -|3mZi#BZ 3 -~ - - —-| 100kN/m%#8 %% - -~ - -|3m%Ei#BZ % -~ - - -
s 1.00]0.00 ~ 7.33 93.39] =h L4 |000 ~ 7.33] 1.88 10.04 s 1.00] 500 ~ 9.72 93.39] #=hLlst | 500 ~ 9.72 1.88 10.04
3 100kN/mM#%#8 2 % -l -~ - -|3mZi#BZ 3 -~ - - —-| 100kN/m%#8 %% - -~ - -|3m%i#B 2% -~ - - -
s 1.00]/0.00 ~ 6.48 81.60| =hLls |000 ~ 6.48] 2.10 11.24 s 1.00] 500 ~ 9.76 81.60] zhLlst | 500 ~ 9.76) 2.10 11.24
4 100kN/mM#%#8 2 % -l -~ - -|3mZEi#B 23 -~ - - —-| 100kN/m%#8 %% - -~ - -|3m%Ei#BZ 3 -~ - - -
s 1.00/0.00 ~ 6.30 79.13| £hii4t | 0.00 ~ 6.30] 1.89 10.12 s 1.00] 500 ~ 7.69 79.13| =hilst | 500 ~ 769 1.89 10.12
5 100kN/mM%#8 2 % 1.00{0.00 ~ 0.79 111.75|3mZEEZ D -~ - - —-| 100kN/m%#8 %% 1.00] 1206 ~ 15.56 111.75|3mZEEZ D -~ - - -
s 1.00]0.79 ~ 857 100.00f Z=h 4+ |0.00 ~ 857] 2.13 11.40 s 1.00] 5.00 ~ 12.06 100.00f Zh 4t | 500 ~ 1556 2.13 11.40
6 100kN/mM%#8 2 % 1.00]0.00 ~ 049 107.33|3mZE#EZ D -~ - - —-| 100kN/m%#8 %% 1.00] 10.53 ~ 11.90 107.33|3mZEEZ D -~ - - -
s 1.00]049 ~ 8.28 100.00f =h 4t | 0.00 ~ 8.28] 2.20 11.75 s 1.00] 5.00 ~ 10.53 100.00f Zh 4t | 500 ~ 1190 220 11.75
7 100kN/mM%#8 2 % 1.00]0.00 ~ 1.04 115.61|3m#*x#B=x 5 -~ - - —-| 100kN/m%#8 %% 1.00] 10.69 ~ 14.11 115.61|3m%x#B=x 5 -~ - - -
s 1.00]1.04 ~ 882 100.00f =h st |0.00 ~ 8.82| 2.10 11.26 zHnLs 1.00] 5.00 ~ 10.69 100.00f Zh st | 500 ~ 1411 2.10 11.26
8 100kN/m#%#8 2 % 1.00{0.00 ~ 1.29 119.55|3m%*#B=x 5% -~ - - —| 100kN/mM%#B % % 1.00] 10.62 ~ 15.00 119.55|3m%*x#B =25 -~ - - -
s 1.00]1.29 ~ 9.08 100.00f Zhlst 10,00 ~ 9.08] 2.31 12.34 s 1.00] 5.00 ~ 10.62 100.00f Z=hl4t | 5.00 ~ 1500 2.31 12.34
9 100kN/mM#%#8 2 % 1.00]0.00 ~ 149 122.67|3m%x#BZ2 5 -~ - - —| 100kN/m%i#8 % % 1.00] 10.56 ~ 15.70 122.67|3m%*xBZx5 -~ - - -
s 1.00]1.49 ~ 927 100.00f Z=h st |0.00 ~ 9.27] 2.33 12.48 zHnLs 1.00] 5.00 ~ 10.56 100.00f Zh 4t | 5.00 ~ 1570 2.33 12.48
10 100kN/mM#%#8 2 % 1.00]0.00 ~ 0.34 105.07|3m%*#BZx 5% -~ - - —| 100kN/mM%i#B % % 1.00] 10.55 ~ 11.50 105.07|3m%*x#BZx 5% -~ - - -
s 1.00/0.34 ~ 8.13 100.00f Zhist+ |0.00 ~ 8.13] 2.15 11.53 s 1.00] 5.00 ~ 10.55 100.00f Zh st | 500 ~ 1150 2.15 11.53
» 100kN/mM#%#8 2 % -l -~ - -|3mZi#BZ 3 -~ - - —-| 100kN/m%#8 %% - -~ - -|3mZEi#B 23 -~ - - -
s 1.00]0.00 ~ 743 94.91| =hLls 000 ~ 0.00] 1.70 9.09 s 1.00] 500 ~ 9.80 94.91| ZhLlst | 500 ~ 9.80 1.70 9.09
12 100kN/mM%#8 % % -l -~ - -|3mZi#B2 3 -~ - - —-| 100kN/m%#8 %% - -~ - -|3m%Ei#BZ 3 -~ - - -
s 1.00]0.00 ~ 6.93 87.75| #h L4 |000 ~ 6.93| 1.85 9.90 s 1.00] 500 ~ 8.73 87.75| #=h L4t | 500 ~ 8.73| 1.85 9.90
13 100kN/m#%#8 2 % -l -~ - -|3m%EiBZ % -~ - - —-| 100kN/m%#8 %% - -~ - -|3m%EiB 2% -~ - - -
s 1.00/0.00 ~ 524 65.37] =h LS |000 ~ 524| 2.13 11.38 ZHns 1.00] 500 ~ 7.40 65.37] =hLlst | 500 ~ 740 2.13 11.38
1 100kN/m#%#8 2 % -l -~ - -|3mZiBZ 3 -~ - - —-| 100kN/m%#8 %% - -~ - -|3m%Ei#BZ 3 -~ - - -
s 1.00]0.00 ~ 452 56.33] =hLls 000 ~ 452 1.91 10.24 s 1.00] 500 ~ 5.00 56.33] =h Ly | 500 ~ 500 1.91 10.24
15 100kN/M%#8 2 % -l -~ - -|3mZiB2 3 -~ - - —-| 100kN/m%#8 %% - -~ - -|3m%EiB 25 -~ - -
ZTh Lt 1.00]0.00 ~ 465 57.94| ThL4 000 ~ 465 1.85 9.92 ZTh Lt 1.00] 500 ~ 5.00 57.94| Th4 | 500 ~ 500| 1.85 9.92
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16 100kN/mM#%#8 % % -l -~ - -|3mZEiBZ 3 -~ - - —-| 100kN/m%#8 %% - -~ - -|3m%iB 2% -~ - - -
s 1.00]0.00 ~ 742 94.72| =h LS 000 ~ 7.42| 261 13.96 zHns 1.00] 500 ~ 1249 94.72| #h st | 500 ~ 1249 261 13.96
17 100kN/mM#%#8 2 % -l -~ - -|3mZi#BZ 3 -~ - - —-| 100kN/m%#8 %% - -~ - -|3m%Ei#BZ % -~ - - -
s 1.00]0.00 ~ 6.98 88.46| ThLls |000 ~ 6.98] 249 13.32 s 1.00] 5.00 ~ 10.00 88.46| zhLlst | 500 ~ 10.00f 2.49 13.32
18 100kN/mM#%#8 2 % -l -~ - -|3mZi#BZ 3 -~ - - —-| 100kN/m%#8 %% - -~ - -|3m%i#B 2% -~ - - -
s 1.00]0.00 ~ 749 95.79] =hLlst |0.00 ~ 7.49| 2.03 10.88 s 1.00] 5.00 ~ 10.30 95.79] #h L4t | 500 ~ 10.30f 2.03 10.88
19 100kN/mM#%#8 2 % -l -~ - -|3mZEi#B 23 -~ - - —-| 100kN/m%#8 %% - -~ - -|3m%Ei#BZ 3 -~ - - -
s 1.00]0.00 ~ 413 51.65| =hLls 000 ~ 4.13] 2.08 11.12 s 1.00] 500 ~ 5.20 51.65] =hLlst | 500 ~ 520 2.08 11.12
20 100kN/mM%#8 2 % 1.00]0.00 ~ 1.19 117.91|3mZEREZ D -~ - - —-| 100kN/m%#8 %% 1.00] 10.55 ~ 14.22 117.91|3mZEEZ D -~ - - -
s 1.00]1.19 ~ 8.97 100.00f Z=h 4t |0.00 ~ 8.97| 2.22 11.89 s 1.00] 5.00 ~ 10.55 100.00f Zh st | 5.00 ~ 1422 222 11.89
21 100kN/mM%#8 2 % 1.00]0.00 ~ 0.52 107.75|3mZE#EZ D -~ - - —-| 100kN/m%#8 %% 1.00] 10.82 ~ 12.44 107.75|3mZEEZ D -~ - - -
s 1.00/0.52 ~ 8.31 100.00f Z=h 4t |0.00 ~ 8.31] 2.08 11.11 s 1.00] 5.00 ~ 10.82 100.00f Zh st | 500 ~ 1244 2.08 11.11
92 100kN/mM%#8 2 % 1.00/0.00 ~ 0.71 110.65|3m#*#B=x 5% -~ - - —-| 100kN/m%#8 %% 1.00] 10.94 ~ 13.00 110.65|3m%*x#B=x 5% -~ - - -
s 1.00]0.71 ~ 8.50 100.00f Z=h 4t |0.00 ~ 8.50| 2.34 12.50 zHnLs 1.00] 5.00 ~ 10.94 100.00f Zh 4t | 500 ~ 13.00f 2.34 12.50
23 100kN/m#%#8 2 % -l -~ - -|3mZEi#BZ 3 -~ - - —-| 100kN/m%#8 %% - -~ - -|3m%Ei#BZ 5 -~ - - -
s 1.00/0.00 ~ 471 58.70| =h LSt |0.00 ~ 471 2.06 11.04 s 1.00] 500 ~ 6.00 58.70| =hLlst | 500 ~ 6.00f 2.06 11.04
94 100kN/M%EHBZ 5 - -~ - -|3m#%i#825%(0.00 ~ 0.07] 3.07 16.44| 100kN/m#%#B 25 - -~ - -|3m%i#825%(10.00 ~ 13.70| 3.07 16.44
s 1.00]0.00 ~ 5.39 67.29] =hLls 007 ~ 539 3.00 16.05 zHnLs 1.00] 500 ~ 13.70 67.29] =h L4t | 500 ~ 10.00f 3.00 16.05
25 100kN/mM#%#8 2 % -l -~ - -|3mZiBZ 5 -~ - - —-| 100kN/m%#8 %% - -~ - -|3m%Ei#BZ % -~ - - -
s 1.00]0.00 ~ 6.99 88.68] T Ll |000 ~ 699 2.82 15.10 s 1.00] 500 ~ 14.70 88.68] =h L4t | 500 ~ 1470 2.82 15.10
26 100kN/M%EHBZ 5 - -~ - -|3m%i#825%(0.00 ~ 0.60| 3.74 20.00| 100kN/m%#8% % - -~ - -|3m%i#825%(10.00 ~ 15.92| 3.74 20.00
s 1.00]0.00 ~ 3.97 49.82| x4t (060 ~ 3.97| 3.00 16.05 s 1.00] 500 ~ 15.92 49.82| x| 5.00 ~ 10.00| 3.00 16.05
97 100kN/mM%#8 % % 1.00]0.00 ~ 1.02 115.36| 3m#*#B=x 5% -~ - - —| 100kN/mM%i#BZ % 1.00] 11.09 ~ 14.23 115.36| 3m#*#B=x 5% -~ - - -
s 1.00|1.02 ~ 8.81 100.00f Zhl4t+ |0.00 ~ 8.81| 2.36 12.64 s 1.00] 500 ~ 11.09 100.00f Zh st | 5.00 ~ 14.23| 2.36 12.64
100kN/m#%#8 2 % ~ ImEHBZRD ~ 100kN/M%HBZ 5 ~ ImEHBZD ~
zh st ~ zh st ~ Zh st ~ zh st ~
100kN/m#%#8 2 % ~ ImEHBZRD ~ 100kN/M%EHBZ 5 ~ ImEHBZD ~
zh st ~ Zh st ~ zh st ~ ZThst ~
100kN/M%#8 2 % ~ ImEHBZRD ~ 100kN/M%HBZ 5 ~ ImEHBZD ~
zh st ~ Zh st ~ Zh st ~ ZThst ~
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